Count 5 more
after 42.
So the answer
is 47

Addition Practice Worksheet b N
42 + 5 = 47 3!;

42 43 44 45 46 47
{ 2 3 4 5

But what will you do if you have to add 5 + GG You
don't need to add 6,7,8,9, Al the way to 7l

You have to put the Iaiager number First.

5 + 66 = 71

66 + 5 = 71
66 67 68 69 70 71

We ao’r the same answer.
That means 5 + GG = GG + 5

Now your turn.Just try these simple exercise

7+Y45 - Y+56 - 987 -
Ys + 7 = 56 + Y - 87 +9 -
3.97 - 2+68- 3+36-
97 + 3 - 68 + 2 - 36 + 3 -

© Mathcrush.com



